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Na’ ,, +1e= Na, Na*(aqg)/ Na(s)
+ - 3+
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NO’O‘_(aQ) = No(g)
NO; 2y = NO, +2H,0 NO; .y / NO,
NO; ) +4H" +3e=2 NQ, +2H,0
H,05) = H0O,
H:Oeq) = 2H.0
. H,O, ..,/ H,0
H,0, +2H" = 2H,0,, 2%2(aq) | T220)
H,0,. +2H" +2e 22 2H,0,,
MnO; ., = M,
MnQ; ,,, = Mn* , +4H,0
_ . . MnQ; .., / Mn**
MnO; ,,, +8H" = Mn* _ +4H,0 4(aq) (a0)
MnO; ,,, +8H " +5e = Mn* , +4H,0
MnG, ., = MnQ,, +2H,0
MnQ; ) +4H" = MnO, +2H,0 MNO; ., / MO,
MnO; ,,, +4H " +3e= MnO,, +2H,0
Cr0 () = Cr¥ (g
Cr,0F y =2 2Cr*
2- 3+ . .
Cry07 (s = 207 (o + 7H20 Cr,0Y o/ Cr¥ (g
CrO; o T14H" = 2Cr*  +7H,0
Cr,0 ,y +14H" +6e = 2Cr*  +7H,0
H*/H, H,=2H"+2e .2
Cl,/ClI- Cl, +2e= 2CI
Au®* / Au Au= Au* +3e
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Hg Hg* Hg? +2e= Hg
Cr? Cr Cr¥ +e= Cr?
Cu cu® Cu* +2e=Cu
Fe? Fe* Fe" +e= Fe*
8,]2+ 8,]4+ 814+ +2é<:) 812+
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